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Question Number : 1 Question Id : 973597517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following hardware units performs mathematical operations over data?

Options:
1« ALU
> % CU

- » Registers

4 % RAM

Question Number : 1 Question Id : 973597517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 2 Question Id : 973597518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be used as both input as well as output device?

Options:
1 % Printer

- #% VDU
= % Mouse

4 Memory

Question Number : 2 Question Id : 973597518 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 973597519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of parallel wires in a computer system bus is known as:

Options:
1 + Bus width

- » Bus length

= # DBus thickness

4 8 Bus category

Question Number : 3 Question Id : 973597519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 973597520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Word length of CPU is measured as:

Options:
1 % The number of characters in a word
> « The number of bits in a word

- % Thenumber of bytes in a word

4 % The number of nibbles in a word

Question Number : 4 Question Id : 973597520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 973597521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to Input/Output Port. the full form of USB is:
Options:

, % Unique Serial Bit

> « Universal Serial Bus
- u Universal Serial Byte

, % Universal Synchronized Bus

Question Number : 5 Question Id : 973597521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 6 Question Id : 973597522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following input devices is used to convert images of text into machine editable text. and widely used to
convert text documents into electronic files?

Options:
1.« OCR

> % MICR
5 » Light Pen

4 % Scanner

Question Number : 6 Question Id : 973597522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 973597523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following comes in the form of 25-pin female connector and used to connect printer, scanner and other

similar devices?
Options:

1 % Serial Port
> « Parallel Port
= % USDB Port

4 % RJ45 Port

Question Number : 7 Question Id : 973597523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 973597524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A CPU with Memory Address Register (MAR) of 24 bits can address up to Memory.

Options:

1 % 8KB

> % 8MB

2 % 16 KB
4 v 16 MB

Question Number : 8 Question Id : 973597524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 8 KB
.« 8 MB
- = 16 KB




. v 16 MB

Question Number : 9 Question Id : 973597525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following categories of computer languages is directly understood by the computers?

Options:
, w Assembly language

» » High-level language
=  Machine language

4 % Visual language

Question Number : 9 Question Id : 973597525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 973597526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is an Open-Source system software?
Options:

| % Internet Explorer
> % MS-Office

z % Windows

4 « Linux

Question Number : 10 Question Id : 973597526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TraRfaT 7 ¥ #i9 o s & J9a-a31y gveaaT s 22

Options:

| i SelAe TFE
- % UATH-AGT
B EEIE



Question Number : 11 Question Id : 973597527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An ordered set of instructions is known as . and a set of programs that governs the operation of a computer
system or its related devices is known as

Options:

1 Program. Software

5 % Software, Program

5 % Hardware, Software
4 % Firmware, Software

Question Number : 11 Question Id : 973597527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 12 Question Id : 973597528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements 1s FALSE?
Options:

, % Windows operating systems support Graphical User Interface (GUI)

- % Wwindows operating systems are multitasking

s « Windows operating systems are open-source software

4 % Wwindows source code is owned by Microsoft

Question Number : 12 Question Id : 973597528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 973597529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider five memory devices M1, M2, M3, M4 and M5 of capacity 2 MB. 4 GB, 512 KB, 16 TB. and 3072 KB
respectively. Which of the following is the correct ordering of the memory devices in an increasing order of their
storage capacity?

Options:

1 % M3, M5, M1, M2, M4
o> ® M3, M1, M5, M4, M2
3 ® M1, M3, M5, M2, M4

4« M3, M1, M5, M2, M4

Question Number : 13 Question Id : 973597529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % M3, M5, M1, M2, M4
o = M3, M1, M5, M4, M2
. % M1, M3, M5, M2, M4
. v M3, M1, M5, M2, M4

Question Number : 14 Question Id : 973597530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Consider a double-sided memory disk in which each surface is divided into 16 tracks and each track is divided into 4
sectors. If each sector contains 4 blocks of 128 bytes each, then the capacity of the memory disk is:

Options:
, % 16KB

> % 32KB
5  64KB
4 % 2MB

Question Number : 14 Question Id : 973597530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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| % 16 KB
., # 32 KB
- v 64 KB
L% 2 MB

Question Number : 15 Question Id : 973597531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following DOS commands deletes a directory and files/sub-directories within it?

Options:
1 ® Del

> # Delete
= « Deltree
4 % Format

Question Number : 15 Question Id : 973597531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 ® Del

> % Delete
2 « Deltree

4 % Format

Question Number : 16 Question Id : 973597532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Double clicking on the Title Bar of a maximized window will the window.

Options:
1 # Close

> % Minimize
= « Restore
4 w Split

Question Number : 16 Question Id : 973597532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 973597533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is used by a PC’s microprocessor to get the computer system started after you turn it on?

Options:
. « BIOS
- % Antivirus

- % Application software

4 % Device driver

Question Number : 17 Question Id : 973597533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » BIOS

Question Number : 18 Question Id : 973597534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is a link (or reference). which is used to access an item stored somewhere else in the computer
system?

Options:
, w Bitmap

5 % Image
z % Folder

4 « Shortcut

Question Number : 18 Question Id : 973597534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 973597535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following commands is used to launch Registry Editor?
Options:

, % Registry

-  RegEdit

- » RegistryEdit

4 # RegistryEditor

Question Number : 19 Question Id : 973597535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, = Registry

-  RegEdit
- » RegistryEdit
4 » RegistryEditor

Question Number : 20 Question Id : 973597536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is a shortcut key for quick access to the Windows Task Manager?

Options:

1 % Ctrl + Shift

- % Ctrl + Shift +~ Tab
3 % Cirl + Tab

4 « Cirl + Shift + Esc

Question Number : 20 Question Id : 973597536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 = Ctrl + Shift

> = Ctrl + Shift + Tab

2 & Ctrl + Tab

4 « Citrl + Shift + Esc

Question Number : 21 Question Id : 973597537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following protects your computer from viruses?

Options:

, w File Manager

> o Antivirus
%z % Disk Cleaner

, % Disk Defragmenter

Question Number : 21 Question Id : 973597537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 973597538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an Anfivirus?

Options:
| % Symantec Norton

> # McAfee
3 « FileZilla
4 » Kaspersky

Question Number : 22 Question Id : 973597538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 23 Question Id : 973597539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid option for Windows power saver plan?

Options:
, w Dim the display

- w Tum off the display

5  Tum off the computer

, = Putthe computer to sleep

Question Number : 23 Question Id : 973597539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 24 Question Id : 973597540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be used to open Command Prompt in Windows for executing text-based commands?

Options:
1 « CMD

> % Commands
= % EXxecute
4 % Run

Question Number : 24 Question Id : 973597540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 973597541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
‘Which of the following is used to change settings and customize the functionalities of your computer?

Options:
1 « Control Panel

> % Character Map

= % Resource Monitor

4 # Task Scheduler

Question Number : 25 Question Id : 973597541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 973597542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following helps to protect your computer from hackers and malicious softwara?
Options:

, w Backup and Restore

> # windows Explorer

3 « Windows Firewall

4 % Snipping Tool



Question Number : 26 Question Id : 973597542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 973597543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following file options allows to save the current work to a different file than the original name?

Options:

1 ® New

-~ % Save

= o Save As
4 % Print

Question Number : 27 Question Id : 973597543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 28 Question Id : 973597544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A file name has two parts separated by a dot. The part preceding the dot is called . Whereas the part
following the dot is called

Options:
| % Extension, Primary name

5 % Precedent, Extension

5  Primary name. Extension



, % Primary name, Antecedent

Question Number : 28 Question Id : 973597544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 973597545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is an archive file format that supports lossless data compression?

Options:
, % PDF

5 o ZIP
4 W JPG

Question Number : 29 Question Id : 973597545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| % YEITH
E.Jﬁq
- % 9CH
4 % SIS

Question Number : 30 Question Id : 973597546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Windows Explorer. if there is no plus sign to the left of a folder icon. it means that the folder does not have any:

Options:
1 « Subfolder

> % ZIP file
=z % DOC file



4 » PDF file

Question Number : 30 Question Id : 973597546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 31 Question Id : 973597547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following folder view i1s most suitable for the folders that contain pictures?

Options:

1 « Thumbnails view
> # List view

z % Details view

4 % Tiles view

Question Number : 31 Question Id : 973597547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 973597548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is FALSE?

Options:

, % Windows Explorer is a program that helps you to manage your files and folders

2. ®

Windows explorer can be opened on clicking Start = All Programs -2 Accessories = Windows Explorer



S
Windows explorer can be opened on right clicking Start button. then selecting Windows Explorer

4 « Like other windows. the Explorer window shows its own name in the title bar

Question Number : 32 Question Id : 973597548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 973597549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a Word Processor?

Options:
; % OpenOffice Writer

> % MS-Word
3 of OpenOffice Calc
4 » Notepad

Question Number : 33 Question Id : 973597549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 973597550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To automatically move to the next line when one line is filled with text is called:



Options:
| % Drop Cap

o w Text Alignment

5  Word Wrap

4 % Hyphenation

Question Number : 34 Question Id : 973597550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

,  THEC FOTTAE
L aE e
, » BB

Question Number : 35 Question Id : 973597551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1s used to copy, whereas is used to cut the selected texts.

Options:
| o Clil+C cul+X

> % Ctrl+C, AL+ X
2 % A+C. Chl+X
4 % Ctrl + C, At + Ctrl + X

Question Number : 35 Question Id : 973597551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FAT F & o gIeT BT FEr g, J9 ooee & 7T 9= F 7 =
¥ BT worer & =mar &
Options:

& Ctrl + C, Ctrl + X
, » Ctrl + C, Alt + X
. = Alt + C, Ctrl + X
, » Ctrl + C, Alt + Ctrl + X

Question Number : 36 Question Id : 973597552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following is a menu that is free-floating and usually appears next to the mouse point?
Options:

1 % Scroll Bar

> w Dialog

= % Toolbar

4 « POpup

Question Number : 36 Question Id : 973597552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Fe=faf@a & ¥ #i9 @ v 3 ¢ A B-oeeT g § ¥R AeIal W ABE wWiee F HE REs
e 87
Options:

1 ® 'Fﬂﬂ'ﬁ'l?

z_ﬁm

T ® A :

4 v 9 T

Question Number : 37 Question Id : 973597553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following i1s NOT a valid font style in MS-Word?
Options:

L Strong
> % Bold
5 # Italic

4 % Regular

Question Number : 37 Question Id : 973597553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH-92 § FAa@d # ¥ Fid @ T 37 Fled TS 6l 82

Options:

R 4 E§'
o B Eﬁﬁ'

Question Number : 38 Question Id : 973597554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is the default font size unit in MS-Word?

Options:

1 « Point

> % Pica

z % Centimeter
4 % Inch

Question Number : 38 Question Id : 973597554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
W—ﬁ;mﬁ#mmmﬁﬁmﬂﬁﬁﬁ?
Options:

1.#tﬁ%€

5> % ToeRr

-« AR

Question Number : 39 Question Id : 973597555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of following is NOT a spreadsheet?

Options:
, % OpenOffice Calc

5 of OpenOffice Impress

z % MS-Excel
4 % Lotus 1-2-3

Question Number : 39 Question Id : 973597555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

FaeaT § O #i7 O v wsefie 767 87
Options:

| » HAOAFTET Hewh
_ e S
- #% UHUH-TFHS

4 % ®eF 1-2-3

Question Number : 40 Question Id : 973597556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



The address of the cell at the intersection of 31% row and 20 column is:
Options:
- B3l

> % 318
5 % 31T
i T3

Question Number : 40 Question Id : 973597556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

319 9fFa AT 204 F=37 &F STET W A FT USH gl
Options:

, % S31

, % 315

z % 31T

4 v T31

Question Number : 41 Question Id : 973597557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Assuming numeric values in the cells Al to AS as 1. 2. 3. 4, and 5 respectively, the value of the Excel expression
=SUM(AL:A3. AS) is:

Options:
1 ® 6
o of 11
=z B 4

4 B 15

Question Number : 41 Question Id : 973597557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT NS A1 & A5 JF & Tell T AT &AM 1, 2, 3, 4 T 5 g, ToFdoT TFAIIa=SUM(A1:A3, A5)
F AT gl

Options:

1 % 5

5% 4

Question Number : 42 Question Id : 973597558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid way to edit the content of an active cell?

Options:



, % Clicking on Formula Bar

-~ % Double clicking in the active cell

5 w Pressing F2 key

4  Pressing F3 key

Question Number : 42 Question Id : 973597558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T 7 ¥ #iF a1 v g7 I Fr gEE # guea = F O afemr 3 738 22
Options:

| PR AR R e Far

. % Ulded Tl A =9 Foleh FL

S_Qan__;?ramr—rT

4_JF3E|;T=?ramr—rT

Question Number : 43 Question Id : 973597559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The display value of the cell containing the Excel expression =55/0 is:

Options:
1 « #Div/0!
> % #HName?

5 w #lnfinity

4.53[}

Question Number : 43 Question Id : 973597559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR TFEYLA=55/0 ek Aer T Breer deg gl

Options:

1« #Div/0!
> % #Name?
- % #Hinfinity

4% 0

Question Number : 44 Question Id : 973597560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assuming the contents of the cells Al and B1 as 4 and 3 respectively. the display value of the cell containing the
formula =A1"B1 is:

Options:



1 ® 12
o B &1
3 o 64

4 ® 7

Question Number : 44 Question Id : 973597560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ST A1 Fa1 B1 & Tow &1 37 A 4 J97 3 2, BT =A1"B1 I a1 Fr Brea
o gl

Options:

4 % 7

Question Number : 45 Question Id : 973597561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
After hiding the first row and first column of a worksheet. the address of the first visible cell (appearing at top-left
position) will be:

Options:

1« B2
> % 2B
z % Al
4 ® 1A

Question Number : 45 Question Id : 973597561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TF THFAMT T T 9fFg 3R TS TN F BT FS F 912, FEY TF @S AT (A 3 mEy
T fewTs dAare) T F UH FAT g2

Options:

1_;,.;?82

Question Number : 46 Question Id : 973597562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
If cells Al, A2, A3, Bl. B2. B3, C1. C2 and C3 contain the natural numbers 1 to 9 (in order). then the display value of
the cell containing the formula = SUM (A1:B2. C3) is:

Options:



Question Number : 46 Question Id : 973597562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
afe ¥ A1, A2, A3, B1, B2, B3, C1, C2 T C3 # 1 ® 9 d% Yipias FEIN (FH &) &,

¥l F BIHAT=SUM(A1:B2, C3) & Brar dg ___ @rm
Options:

; % 15

- % 17

2 o 21

4 % 45

Question Number : 47 Question Id : 973597563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet is one of the best known example of:

Options:
| « WAN

o R LAN
5 ®* MAN
4 B SAN

Question Number : 47 Question Id : 973597563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TeTae FaeT gag 9iae 3eEr 27

Options:
. v WAN
» % LAN
2 % MAN
. % SAN

Question Number : 48 Question Id : 973597564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT an alternate name to HTTPS?

Options:
1 % HTTP over TLS



~ % HTTP over SSL
3 « HTTP Service
4 % HTTP Secure

Question Number : 48 Question Id : 973597564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

foraoTaa § O &9 97 T=EENITT &7 U dhiedsd ATH Jal 27
Options:

% STHTH 9T TEERMT
> % UHUHUS 9 T=EEdr
5 v TEERMT gEw
4 % TIERMT fEEaR

Question Number : 49 Question Id : 973597565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to the World Wide Web. URL stands for:
Options:
, % Uninterrupted Resource Locator

-~ % Unique Resource Replicator

= « Uniform Resource Locator

4 % Uniform Router Location

Question Number : 49 Question Id : 973597565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Io5 I132 39 & He A, URL &7 379 gl

Options:

L« T REw e
. » TFe REw s
i IfAwIA T3 FArener

Question Number : 50 Question Id : 973597566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following network topologies. computers and other communication devices are connected in a
continuous loop and each node serves as a repeater?

Options:



1 % Star
o o RiDg
= % DBus

4 ® Mesh

Question Number : 50 Question Id : 973597566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ot aeas et # ¥ e, FI AR 377 §9R 390 UF HEgaT a9 # I3 g0 8
¢ 3 93T A5 v e F w9 H F1 T 82

Options:
1, #® E

o R g4
4 ® ﬁ'@!’

Question Number : 51 Question Id : 973597567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following OSI layers ensures the delivery of complete message?

Options:
. w Presentation layer

-  Iransport layer
5 # Network layer

4 » Physical layer

Question Number : 51 Question Id : 973597567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFeafaf@a 0S| o 7 & #ia @ 5T Her #r Bead & glafag & 272

Options:

1. % Y= AT
z.wwm
. » deTH W
4 % ThlIeel oI

Question Number : 52 Question Id : 973597568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Private owned local area network of an organization that uses TCP/IP and other Internet standard protocols is called:

Options:



1 « Intranet
> % Internet
= % Extranet
4 % VPN

Question Number : 52 Question Id : 973597568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T HITSA T el THcT I1em Alehe TAT Seas ST TCP/IP &7 99T 3+ Siac eSS SIahie &

ITATT FIAT & IH FAT Fed 27

Options:

1_\,—-*?‘_9?'?3
, % SELE

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questions to be attempted:

Section Marks:

Display Number Panel:

Group All Questions:

Question Id : 973597569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section Id:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension

EEADING COMPEEHEMNSION

97359792
2

Online
Mandatory
1

1

5

Yes

No

1
97359792
Yes



Read the following passage and answer the questions
given after it.

Four weeks ago I was late for work. I left my house five
minutes later than usual and I saw my bus approaching the
bus stop. I began to run, but I was too slow. I waited ten
minutes for another bus and I was still gasping for air when it
arrived. The next day I gave up smoking. For the first few
days I was very irritable, but now I feel much better. Now I
ask: Why do people smoke?

Every year teams of doctors publish reports saying that
smoking is dangerous for your health. Every year the
Government pays for the advertisements telling people that
smoking is bad for them. But there are millions of people
who still smoke twenty or thirty cigarettes a day.

In some countries advertisements for cigarettes are not
allowed on television. If you read a newspaper or a magazine
you will see cigarettes advertisements but at the bottom of
each advertisement you will see the government health
warning — Cigarette smoking is injurious to health. You can
see this warning on the cigarette packets also. And yet
people die from the effects of smoking. One wonders why
people smoke!

Experts in various fields say that it is difficult to understand
why people begin to smoke and why they make it a habit.
Most people start smoking because other people around them
do it. Children feel it makes them seem adult to smoke, and
other children also encourage them to smoke. Some children
see their parents smoking, so they start smoking too.

The effect that smoking has on a person helps to make it a
habit. Cigarettes contain nicotine which has an effect on the
heart and the nervous system. Smoking one or two cigarettes
causes an increase in the heart rate and a slight rise in blood
pressure. The effect of smoking on the nervous system is that
it reduces tension and helps to relax. People want these
effects or feel they need them and start depending on them
and they go on smoking.

Sub questions

Question Number : 53 Question Id : 973597570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The passage is about:

Options:
, % reasons for smoking.

-  theill effects of smoking.



5 » how smoking reduces tension and helps to relax.

4, % therole Government can play to control smoking.

Question Number : 54 Question Id : 973597571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The protagonist realized that he was not able to
run fast because he:

Options:

1 #% was weak.

> % was old.

=  Was a smoker.

4 % did not have the will to do so.

Question Number : 55 Question Id : 973597572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Generally people start smoking because they:

Options:
, « See other people around them smoking.

> % want to look modern.
% # are not bothered about their health.
4 % are ill informed.

Question Number : 56 Question Id : 973597573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Children take to smoking because they:

Options:

1 % want to show off.

> # like the aroma of tobacco.
% « want to look like adults.

4 % are innocent.

Question Number : 57 Question Id : 973597574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Every cigarette advertisement carries the warning
‘Cigarette smoking is injurious to health.’:

Options:

, « towam people of the dangers of smoking.

-~ % Justasamechanical exercise.



5 % Dbecause it is mandatory to do so.

4 » toavoid legal issues.

Question Id : 973597569 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 973597570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g urearer FE I 7 g7
Options:
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Question Number : 54 Question Id : 973597571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 55 Question Id : 973597572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 56 Question Id : 973597573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
== AT $T AT HHNT g & Fhife &
Options:
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Question Number : 57 Question Id : 973597574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e foene & e # e e @eeg & B aifves & 3aEsn grar gl

Options:
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CUANTITATIVE APTITUDE
Section Id : 97359793
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 97359793
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 973597575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The average of 6, 12, 18, ......, 120 is:

Options:
1 ® 61

o B 62



3. ¢ 63
g4 W 64

Question Number : 58 Question Id : 973597575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

6 12 18 ... 120 & atag =4
Options:

, = 61
- % B2
3. ¢ 63
4 % 64

Question Number : 59 Question Id : 973597576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The cost price of an article is 60% of its marked price for sale. How much percent does the tradesman gain after
allowing a discount of 16%?

Options:

1 ® 25%
= o 40%
= % 30%
4 % 50%

Question Number : 59 Question Id : 973597576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ueh IE] FT FT Hod FEH 6l & o AT qoT F7 60% g1 16% # T S & &g A H
foraer gfderag =mey 9r=g 2T 272

Options:

, % 25%
> & 40%
- = 30%
. = 50%

Question Number : 60 Question Id : 973597577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alkash can do half of a work in 10 days. Calculate the time he will require to do four times the same work.

Options:
, % 40days

> w 00days
- 80 days



4 % 100 days

Question Number : 60 Question Id : 973597577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T TF HH & 3T o417 7 10 A F FT TFar g1 s g@n $6 F1 & A I F H R
& forT smaegs RET Fr svEr F:i

Options:

;% 40 fea
> = 60 fe=
5 v 80 fe&
4 = 100 &=

Question Number : 61 Question Id : 973597578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The ratio of present ages of Jyoti and Ankita is 7 : 5. If after six years, their ages will be in the ratio of 4 : 3, what would
be the present age of Ankita?

Options:
1 ® 3

-2

ol

- R 3
= o 30
4 ® 35

Question Number : 61 Question Id : 973597578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
=i 3 Hfesar & aaAT= 3 F I 7 ¢ 5 8 IR T AR F G, SAR I F AT 4 0 3 &
ST, & HfEFar Fr gaAe Ay F=w g

Options:

;] & 32
> % 36
3 ¢ 30
4 % 3D

Question Number : 62 Question Id : 973597579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Study the following table carefully and answer the question given below it.

Sales of Peter England shirts by six stores A, B. C. D. E and F during 5 years.

Store / Year A B C D E F
2001 750 478 575 670 595 852
2002 680 780 760 490 675 780
2003 575 470 720 870 835 820
2004 482 670 665 790 485 645
2005 545 720 829 585 650 855

By what percent is the number of shirts sold by store B in 2005 less than that sold by store F in 20037
Options:

1 ® 10%

> o 12%

=z B 14%

4 ® 15%

Question Number : 62 Question Id : 973597579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A1 & 2 Ao B eua ¥ 98 AR sTE A ¥ T geAt & 3
538t &% alNe & g@et A, B, C, D, E 3R F ganr dieY geeis ore &

gEEy | A B C D E F
2001 | 750 | 478 | 575 | 670 | 595 | 852
2002 | 680 | 780 | 760 | 490 | 675 | 780
2003 | 575 | 470 | 720 | 870 | 835 | 820
2004 | 482 | 670 | 665 | 790 | 485 | 645
2005 | 545 | 720 | 829 | 585 | 650 | 855

B 2T 2005 H &< 7 o T WEAT F ga@nr 2003 H 3= 71 ok fr wEwr ¥ Faa gfoeg w7 87
Options:

;% 10%

> o 12%

2 % 14%

4 % 15%

Question Number : 63 Question Id : 973597580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
AABC and APQR are of the same height. If base length of AABC is five times the base length of APQR. then find the
ratio of area of AABC and area of APQR.

Options:
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Question Number : 63 Question Id : 973597580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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GEMERAL MENTAL ABILITY AND REASONING

Options:

1 ¢ 5:1

- ® 1 5

= ® B:2

4 ® 3:h
Section Id :
Section Number :
Section type:
Mandatory or Optional:

Number of Questions:
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Question Number : 64 Question Id : 973597581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the given arrangement. how many ‘A’s are preceded by a consonants and followed by a vowel?

CBLMANTNAUKLIAUDFAES

Options:
Ll

[ ]

ag

o W

=

3 ®

L

4 B



Question Number : 64 Question Id : 973597581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& M I 0 A A e g9 e T e 3R g9 9% T T 22

CBELMANTNAUKLIAUDFAES
Options:
1.4 2
5> # 3
3 % 4

4 % 5

Question Number : 65 Question Id : 973597582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If red is called milk. milk is called tea. tea is called pen. pen is called sugar, and sugar is called red, which of the
following is used for writing a letter?

Options:

| & Sugar
> % Milk
z # Red

4 % Tea

Question Number : 65 Question Id : 973597582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

afe arer @ gy g F T, T F I, U9 FH AT AR Al oo Fgr A A v 97 Bma F
forr mafofea # o e 393 fFar saem

Options:
Racl
> % A
= % ool
4 ® =T

Question Number : 66 Question Id : 973597583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rajat walks 15 m south from his home. turns left and walks 20 m again turns left and runs 30 m. then turns right and
walks 3 m to reach his school. In which direction is his school from his home?

Options:
1 # North

> % South
= « North-East

4 % South-East



Question Number : 66 Question Id : 973597583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

4 #® Eﬁqm_ﬂ\é

Question Number : 67 Question Id : 973597584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

X says to Y. “You are the son of my grandfather’s only son™. How is Y related to X?
Options:

1 % Father

®

> % Uncle
- s Nephew
4 « Brother

Question Number : 67 Question Id : 973597584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
X, Y ¥ Fear g, ‘TH HY AT & Fhelld T F T a' Y, X ¥ &g 9o gafag 27
Options:

% Toar

o % =l

5 % AT

4.Jg'ﬂ-é

Question Number : 68 Question Id : 973597585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

If ‘DA’ is related to ‘IF’, ‘NK’ will be related to:
Options:

1« SP

o> ® PS
=z B PR



4 ® SR

Question Number : 68 Question Id : 973597585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
afg ‘DA’ 'IF & gefag g, 3 ‘NK Brad geafea gem?
Options:

1.« SP
> # PS
2z % PR
4 % SR

Question Number : 69 Question Id : 973597586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the missing character in the following figure.

T
594 198
- 66
\\_______,/
Options:
1 ® 11
o R 12
= o grip
4 B 33

Question Number : 69 Question Id : 973597586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ffofea e & o9 92 79 fifew

594 158

Options:



1 % 11

- % 1 2

3. ¢ 22

g4 33

GENERAL AWARENESS

Section Id : 97359795
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
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Question Number : 70 Question Id : 973597587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The headquarters of Food and Agriculture Organization is in:

Options:

1 % Paris

-~ « Rome

% Madrid

4 % Washington

Question Number : 70 Question Id : 973597587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T HR FW Tered # AEITo Fel 9T T &2

Options:

| & aRw
> v A
-« HfE3
4 % JTeNTE

Question Number : 71 Question Id : 973597588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
The Arjuna Awards were established in the year

Options:
, % 1965

> % 1963
= « 1961
4 W 1957

Question Number : 71 Question Id : 973597588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

31»:&:-1 g{é—*l{ﬁwaﬁ‘ I &r T o

Options:

% 1965
- % 1963
2 v 1961
., % 1957

Question Number : 72 Question Id : 973597589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Identify the literary work from the following which was NOT written by R.K Narayan.
Options:

, » Malgudi Days

> % Swami and his friends

z % Guide

4 « Gardner

Question Number : 72 Question Id : 973597589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fFafof@e 7 o 37 oftftos =@ & gga= F 58 3R, . aRIor ganr =380 o @ or

Options:

1 ® 2 ?}H

, » T s o thEw
3 & NS

4 v TMER

Question Number : 73 Question Id : 973597590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which year. India qualified for the finals of the Davis Cup for the first time?



Options:
1 % 1964

> « 1966
s % 1970
4 % 1974

Question Number : 73 Question Id : 973597590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HT & 9gal 97 390 9 F wsaa F Ov g a¥ F ovgar g $r o7
Options:

% 1964
. » 1966
- = 1970
L % 1974

Question Number : 74 Question Id : 973597591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ms. Helle Thorning-Schmidt is the FIRST Women Prime Minister of:
Options:

| = Norway
> % Brazil

3 « Denmark

4 w Argentina

Question Number : 74 Question Id : 973597591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gAY, g ME-RAe FiF & o 1 ggelr AfRem guaAs 872

Options:

| ow oS
> % SIS
5 v SAATH
4 % 3T

Question Number : 75 Question Id : 973597592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who wrote the book *Train to Pakistan’?
Options:

, % Mulk Raj Anand



> % Shobha Singh

- % Ruskin Bond

4  Khushwant Singh

Question Number : 75 Question Id : 973597592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 973597593 Question Type: TYPING TEST Display Question Number : Yes



India is now better positioned to collaborate internationally and step up climate-friendly nuclear power
generation than ever before, following ratification of the Convention on Supplementary Compensation (25C)
for Muclear Damage. The C5C was adopted on 12 September 1997, together with the Protocol to Amend the
YVienna Convention on Civil Liability for Muclear Damage, and entered into force on 15 April 2015, It aims at
increasing the amount of compensation available in the event of a nuclear incident through public funds to be
made available by the Contracting Parties on the basis of their installed nuclear capacity and UN rate of
assessrrent. It also aims at establishing treaty relations armong States. However, supplier's concerns or the
extent of their liability in case of an accident would be finally settled once the Supreme Court gives its verdict
on a challenge to India's civil nuclear liability law pending before it, supplemented with questions that should
e posted on different contingencies. The fine print of the law has effectively prevented us from stepping up
investrmnent in nuclear power for over five years. While the Indo-US nuclear deal of 2008 was indeed
path-breaking, ending as it did India's veritable global isclation in the domain of nuclear and, more broadly, a
range of dual-use techniologies. India's subsequent nuclear liability law of 2010 was seen by several potential
OVerseas suppliers as being out of sync with global norms. Our now ratifying the Convention on
Supplementary Cornpensation, which provides clear—cut norms and pararmeters onl & nuclear operator's
financial liability, should provide much-needed investor comfort for foreign suppliers. India did sign the
convention back in 2010, but its ratification has taken longer than warranted. Fortunately, there has beern
progress in nuclear cooperation of late. There's now far better access to nuclear fuel from abroad, and plans to
set up several new plants with suppliers from the U5, Russia and France are reportedly well advanced. e
st leverage our diplormatic skills and international goodwill to gain access to the Nuclear Suppliers' Group
without further delay. With promising developments in fusion energy, being part of the international effort to
harness nuclear energy is of vital importance. Indian equipment makers and suppliers could reap scale
econormies and standardise vital parts and components, which, in turn, would bring down costs and keep the
price of nuclear power attractive. Nuclear energy has to play its role in contributing to growth without
greenhouse gas emissions. The fine print of the law has effectively prevented us from stepping up investrnent
in nuclear power for over five years. While the Indo-US nuclear deal of 2008 was indeed path-breaking,
ending as it did India's veritable global isolation in the domain of nuclear and, more broadly, a range of
dual-use technologies.
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